Volume 8, No. 8, September-October 2017



International Journal of Advanced Research in Computer Science

**RESEARCH PAPER** 

Available Online at www.ijarcs.info

# SOLUTION FOR (1+N) DIMENSIONAL NONLINEAR BURGERS' INITIAL VALUE PROBLEM USING ADOMIAN DECOMPOSITION METHOD

Monika Rani Research Scholar I K Gujral Punjab Technical University, Kapurthala, Punjab, India Harbax Singh Bhatti <sup>2</sup>Baba Banda Singh Bahadur Engineering College, Fatehgarh Sahib Punjab, India

Vikramjeet Singh I K Gujral Punjab Technical University, Kapurthala, Punjab, India

*Abstract*: In this manuscript, we have represented (1+n) dimensional nonlinear Burgers' initial value problem. Adomian decomposition method (ADM) has been applied to find the solution of this problem. Some examples have also been given to claim the complete convergence of the method for exact solution.

Keywords: (1+n) dimensional Burgers' equation; Adomian decomposition method; Nonlinear partial differential equation, Lagrange multiplier.

## **1.INTRODUCTION**

The researchers are showing their interest in new methods to solve linear – nonlinear, ordinary - partial differential equations with initial and boundary value problems [1-3]. Nonlinear Burgers' equation was firstly reported by J. M. Burgers for a fluid motion model. It is widely used in wave theory, gas and plasma dynamics [4-6]. Adomian decomposition method (ADM) has been introduced by George Adomian in 1980's. It provides an approximation solution with less number of iterations [7].

## 2. (N+1) DIMENSIONAL NONLINEAR BURGER INITIAL VALUE PROBLEMS

### 2.1 Problem I

$$\begin{split} w_t &= w_{x_1x_1} + w_{x_2x_2} + w_{x_3x_3} + \dots - \dots + w_{x_nx_n} + ww_{x_1} \\ (01) \\ \text{With initial condition} \\ w(x_1, x_2, x_3, - \dots - \dots - , x_n, 0) &= x_1 + 2x_2 + 3x_3 + \dots - \dots - \dots + nx_n \\ \dots &= (02) \\ \text{Having exact solution} \\ w(x_1, x_2, x_3, - \dots - \dots - , x_n, t) &= \frac{x_1 + 2x_2 + 3x_3 + \dots - \dots - x_n, t}{1 - t} \\ w(x_1, x_2, x_3, - \dots - \dots - \dots + nx_n, t) &= \frac{x_1 + 2x_2 + 3x_3 + \dots - \dots - x_n, t}{1 - t} \\ \text{(03)} \\ \text{Where } w_{x_k x_k} &= \frac{\partial^2 w}{\partial x_k^2} \\ (04) \end{split}$$

Equation (01) can be represents as  $L_t(w) = f(x_1, x_2, x_3, ---, x_n, t) + N(w)$ 

(05)

Where  $L_t = \frac{\partial}{\partial t}$  and  $N(w) = ww_{x_1}$  represent linear operator and nonlinear term respectively.

Applying  $L_t^{-1}(.) = \int_0^t (.) dt$  in equation (01) and considering initial condition, we get

$$w(x_{1}, x_{2}, x_{3}, ----, x_{n}, t) = (x_{1} + 2x_{2} + 3x_{3} + ---- +nx_{n}) + L_{t}^{-1}(w_{x_{1}x_{1}} + w_{x_{2}x_{2}} + w_{x_{3}x_{3}} + ---+w_{x_{n}x_{n}} + ww_{x_{1}})$$
(06)

Now, in view of Adomian decomposition method, after decomposing the solution w and nonlinear term  $ww_{x_1}$ into the series form, equation (06) gives

$$\sum_{m=0}^{\infty} w_m(x_1, x_2, x_3, ----, x_n, t) = (x_1 + 2x_2 + 3x_3 + --- + nx_n) + L_t^{-1}(w_{x_1x_1} + wx2x2 + wx3x3 + --- + wxnxn + m = 0\infty Am$$
(07)

Where Adomian polynomials  $A_m$  depending upon  $w_0, w_1, ---, w_m$  can be calculated by following

$$A_{\rm m} = \frac{1}{m!} \frac{\partial^m}{\partial \lambda^m} \left[ N \left( \sum_{p=0}^{\infty} w_p \lambda^p \right) \right]_{\lambda=0} \quad {\rm m} = 0, \, 1, \, 2....$$
(08)

Some Adomian polynomials are

$$A_{0} = w_{0}(w_{0})_{x_{1}}$$
(09)  

$$A_{1} = w_{0}(w_{1})_{x_{1}} + w_{1}(w_{0})_{x_{1}}$$
(10)  

$$A_{2} = w_{0}(w_{2})_{x_{1}} + w_{1}(w_{1})_{x_{1}} + w_{2}(w_{0})_{x_{1}}$$
(11)

And so on

In view of equation no (07), Adomian recursion formula can be obtained as

$$w_0 = (x_1 + 2x_2 + 3x_3 + \dots - \dots - + nx_n)$$
(12)

$$w_{m+1} = L_t^{-1} (w_{x_1 x_1} + w_{x_2 x_2} + w_{x_3 x_3} + \dots + w_{x_n x_n} + Am, m \ge 0$$
(13)

Using equation (13), the solution components can be determined as

$$w_{1} = (x_{1} + 2x_{2} + 3x_{3} + \dots + nx_{n})t$$
(14)  

$$w_{2} = (x_{1} + 2x_{2} + 3x_{3} + \dots + nx_{n})t^{2}$$
(15)  

$$w_{3} = (x_{1} + 2x_{2} + 3x_{3} + \dots + nx_{n})t^{3}$$

(16)

And so on.... According to ADM, the final solution in series form is  $w(x_1, x_2, x_3, ----, x_n, t) = (x_1 + 2x_2 + 3x_3 + ---- + nx_n)(1 + t + t^2 + t^3 + ----)$ Which is same as the exact solution (03). 2.2 Problem II Reconsider the equation (01) $w_t = w_{x_1x_1} + w_{x_2x_2} + w_{x_3x_3} + \dots + w_{x_nx_n} + w_{x_1}$ (18)With different initial condition  $w(x_1, x_2, x_3, ---- x_n, 0) = ex_1 + e^2 x_2 + e^3 x_3 + --- e^n x_n$ (19) Having exact solution  $w(x_1, x_2, x_3, ----, x_n, t) = \frac{ex_1 + e^2 x_2 + e^3 x_3 + ---- + e^n x_n}{1 - t}, |t| \le 1$ (20)Where  $w_{x_k x_k} = \frac{\partial^2 w}{\partial x_k^2}$ (21)Equation (18) can be represents as  $L_t(w) = f(x_1, x_2, x_3, - - - - x_n, t) + N(w)$ (22)

Where  $L_t = \frac{\partial}{\partial t}$  and  $N(w) = ww_{x_1}$  represent linear operator and nonlinear term respectively. Applying  $L_t^{-1}(.) = \int_{-t}^{t} (.) dt$  in equation (18) and

 $w(x_{1}, x_{2}, x_{3}, ----, x_{n}, t) = (ex_{1} + e^{2}x_{2} + e^{3}x_{3} + ----+e^{n}x_{n}) + L_{t}^{-1}(w_{x_{1}x_{1}} + w_{x_{2}x_{2}} + w_{x_{3}x_{3}} + ---+w_{x_{n}x_{n}} + ww_{x_{1}})$ (23)

- Now, in view of Adomian decomposition method, after decomposing the solution w and nonlinear term  $ww_{x_1}$ into the series form, equation (23) gives
- $\sum_{m=0}^{\infty} w_m(x_1, x_2, x_3, ----, x_n, t) = (ex_1 + e^2 x_2 + e^3 x_3 + --- + e^n x_n) + L_t^{-1} (w_{x_1 x_1} + wx 2x 2 + wx 3x 3 + --- + wx nx n + m = 0 \infty Am$ (24)

Where Adomian polynomials  $A_m$  depending upon

 $w_{0}, w_{1}, - - - - - w_{m} \text{ can be calculated by following}$  $A_{m} = \frac{1}{m!} \frac{\partial^{m}}{\partial \lambda^{m}} \left[ N \left( \sum_{p=0}^{\infty} w_{p} \lambda^{p} \right) \right]_{\lambda=0} \quad m = 0, 1, 2....$ (25)

Some Adomian polynomials are

 $A_{0} = w_{0}(w_{0})_{x_{1}}$ (26)  $A_{1} = w_{0}(w_{1})_{x_{1}} + w_{1}(w_{0})_{x_{1}}$ (27)  $A_{2} = w_{0}(w_{2})_{x_{1}} + w_{1}(w_{1})_{x_{1}} + w_{2}(w_{0})_{x_{1}}$ (28)

And so on

In view of equation no (24), Adomian recursion formula can be obtained as

$$\begin{split} w_{0} &= (ex_{1} + e^{2}x_{2} + e^{3}x_{3} + \dots - \dots - + e^{n}x_{n}) \\ (29) \\ w_{m+1} &= L_{t}^{-1} (w_{x_{1}x_{1}} + w_{x_{2}x_{2}} + w_{x_{3}x_{3}} + \dots - + w_{x_{n}x_{n}} + Am, m \ge 0 \\ (30) \\ \text{Using equation (30), the solution components can be} \\ &\text{determined as} \\ w_{1} &= (ex_{1} + e^{2}x_{2} + e^{3}x_{3} + \dots - \dots - + e^{n}x_{n})t \\ (31) \\ w_{2} &= (ex_{1} + e^{2}x_{2} + e^{3}x_{3} + \dots - \dots - + e^{n}x_{n})t^{2} \\ (32) \\ w_{3} &= (ex_{1} + e^{2}x_{2} + e^{3}x_{3} + \dots - \dots - + e^{n}x_{n})t^{3} \\ (33) \\ \text{And so on....} \\ \text{According to ADM, the final solution in series form is} \\ w(x_{1}, x_{2}, x_{3}, \dots - \dots - x_{n}, t) &= (ex_{1} + e^{2}x_{2} + e^{3}x_{3} + \dots - \dots - + e^{n}x_{n})t^{3} \\ \dots \\ (34) \\ \text{Which is same as the exact solution (20).} \end{split}$$

### **3. ACKNOWLEDGEMENT**

The authors are highly obliged to I.K. Gujral Punjab Technical University, Kapurthala for providing a platform to accomplish this research.

#### **4. REFERENCES:**

- Umesh Gupta, Harbhajan Singh, Rajneesh Randhawa, "Effect of pump configuration on Raman amplifier as function of input power for multiplexed wavelengths", Optoelectronics and Advanced Materials - Rapid Communications, vol. 9, no. 5-6, p. 567 – 569, May – June 2015.
- Rakesh Goyal, Rajneesh Randhawa, R. S. Kaler, "Single tone and multi tone microwave over fiber communication system using direct detection method", Optik- International Journal for Light and Electron Optics, vol. 123, no. 10, pp. 917-923, 2012.
- Vikrant Sharma, Anurag Sharma, Dalveer Kaur, "Observation and Mitigation of Power Transients in 160 Gbps optical Backhaul networks", European Scientific Journal, vol. 9, no. 18, pp. 327-332, June 2013.
- S. T. Mohyud-Din, M. A. Noor, "Homotopy Perturbation Method for Solving Partial Differential Equations", Zeitschrift für Naturforschung A., vol. 64, no. 3-4, pp. 157-170, 2014.
- Burgers, J. M., "A mathematical model illustrating the theory of turbulence", Advances in Applied Mechanics, pp. 171, 1948.
- V. K. Srivastava, M. K. Awasthi, "(1 +n) Dimensional Burgers' equation and its analytical solution: A comparative study of HPM, ADM and DTM", Engineering Physics and Mathematics, Ain Shams Engineering Journal, vol. 5, pp. 533–541, 2014.
- J. S. Duan, R. Rach, D. Baleanu, A. M. Wazwaz, "A review of the Adomian decomposition method and its applications to fractional differential equations", Communications in Fractional Calculus, vol. 3, no. 2, pp. 73-99, 2012.